RH6EE BRIt 2— (RER) HIFEERICEY S

1EH HEME B 48 58 6 A 78 8H 94 108 118 128 1A 28 38
. |—.Z - kg 1,278,470 1,275,180 1,184560| 1,320,550 1,199,370 1,072,590 1,138,070| 1,117,730 1,189,310| 1,020,010 909,890| 1,052,810
» \AIRMEHKRIH - kg 21,540 23,540 19,910 24,870 20,160 17,900 21,760 22,250 30,030 23,810 17,670 15,780
A (EEBATHRSH - kg 25,430 29,190 30,740 26,390 20,970 22,840 35,990 35,690 27,440 19,020 20,720 31,020
© [&E - kg 1325440 1,327,910 1,235210] 1,371,810{ 1,240,500 1,113,330 1,195820| 1,175,670 1,246,780 1,062,840 948280| 1,099,610
ALY = - t 80.50 60.30 4519 39.17 33.12 39.14 39.14 57.16 63.23 66.21 42.16 54.35
<1%>
a |BRBEERE (FER) 850°C< °C 902 908 909 909 912 912 908 908 911 906 902 906
% [2BXECABADRRE 200°C> °C 180 180 180 181 181 181 181 180 180 180 180 180
E-BERBRE 30 ppm 14 16 16 13 19 17 13 14 7 6 6 5
¢ | PABEE T ERIEE H 26 9 21 29
@u BT El 27 22 10 22 29
ag AR 5] 28 23 11 23 30
HEBHELARE H 12 31
HIE B 5] 7810H 18158
tEREIRER B 8H28H 28128
IFCA 0.01[g/m3N <0.004 <0.004
;;;;,E REBRIEY 50| ppm <0.9 <0.9
2 EXRRItY 100|ppm 17 21
) HEIEKE 114|mg/m3N 6.6 <141
R E2S 50] ¢ g/m3N 2 24
fERIEH B 8 28H
—BibiRE 30|ppm <9
BAF XL U5E 0.01|ng-TEQ/m3N 0.007
<2%>
2 |RGEEIRE (FER) 850°C< °C 904 881 892 910 916 909 905 904 905 904 902 903
5 [PBXECABADRE 200°C> °C 181 178 180 182 181 181 180 180 181 181 181 180
| —EbiREERE 30 ppm 19 16 21 15 19 14 11 11 7 5 7 9
5 | PRBEZE T ERIEE H 26 9 21 29
@3 AT El 27 24 10 22 29
a/‘; AR 5] 28 25 11 23 30
HEBXELAZS B 12 31
b=l B 7811H 18158
fERIEH 5] 8H28H 28128
IEFWCA 0.01{g/m3N <0.004 <0.004
;;;;,E HREREY 50| ppm <0.9 <1.0
2 EXRItY 100|ppm 53 31
PEREES 114|mg/m3N 5.8 1.2
= |2KER 50| 1t g/m3N 0.4 8.2
#HRIEAR 5] 8H28H
—EbRE 30| ppm <9
BAXX 48 0.01[ng-TEQ/m3N 0.0099
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